wigh
Q % é <§ %7 Multiply decimals by powers of ten

Name: Date: Score:
2.454 x 1000 = 10.31 x 100000 =
3.81 x10 = 3.799 x 100 =
6.701 x 1000 = 8.142 x 10000 =
5.676 x 1000 = 7.942 x 1000000 =
3.178 x 1000 = 7.889 x 100000 =
2.539 x 10000 = 2.706 x 10000 =
9.917 x 1000000 = 10.671 x 100000 =
4.338 x 10 = 1.704 x 1000000 =
3.057 x 1000 = 2.786 x 1000 =
10.806 x 100 = 6.428 x 10 =
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Q ;\) é § j{f}% Multiply decimals by powers of ten

Name: Date: Score:
2.454 x 1000 = 2454 10.31 x 100000 = 1031000
3.81 x 10 = 38.1 3.799 x 100 = 379.9
6.701 x 1000 = 6701 8.142 x 10000 = 81420
5.676 x 1000 = 5676 7.942 x 1000000 = 7942000
3.178 x 1000 = 3178 7.889 x 100000 = 788900
2.539 x 10000 = 25390 2.706 x 10000 = 27060
9.917 x 1000000 = 9917000 10.671 x 100000 = 1067100
4.338 x 10 = 43.38 1.704 x 1000000 = 1704000
3.057 x 1000 = 3057 2.786 x 1000 = 2786
10.806 x 100 = 1080.6 6.428 x 10 = 64.28
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